Mini Satellite-Antenna Rotator Mkll — Construction Notes

Parts List
Item Quantity Part Number Vendor usb AUD GST Total
1P66 Enclosure, 200x200x150mm 1 FT202015 Switchesplus $50.60 $5.06 $ 55.66
Roller Chain, 1/4" pitch 1 B16650 Globalindustrial or $18.25 $23.91 $ 2391
Search www.ebay.com for 25-1R x 10FT www.ebay.com
Connecting Link, 1/4" pitch 2 B615676 Globalindustrial or $ 036 $ 047 $ 094
Search www.ebay.com for 25-1R CL www.ebay.com
Sprocket, 32 tooth, 1" Finished Bore 2 B759571 - TRITAN 25BS32X1 Globalindustrial or $12.25 $16.05 $ 32.10
Search www.ebay.com for 25BS32H X 1 www.ebay.com
Sprocket, 10 tooth, 1/4" Finished Bore 2 B759819 - TRITAN 25BS10HX1/4 Globalindustrial $ 361 $ 473 $ 946
Search www.ebay.com for 25BS10H X 1/4 www.ebay.com
Aluminium Tube, 25x3x1600mm* 1 TUBO025X3BF Alum. Trade Centre $17.43 $1.74 $ 19.17
Aluminium Angle, 50x25x3x1600mm 1 ANGO50X25X3MF Alum. Trade Centre $17.23 $1.72 $ 1895
Aluminium Angle, 25x25x1.6x1600mm 1 ANGO025X25X1.6MF Alum. Trade Centre $12.54 $1.25 $ 13.79
Flange Bearing, 25mm 3 KFLOO5 eBay: ecdepot S 7.69 S 23.07
Pillow Block Bearing, 25mm 1 KP0OO5 eBay: ecdepot $ 8.29 S 829
Motor Driver, H-Bridge, 3A 2 LMD18200T DC Motor Driver Module eBay: ecdepot $15.20 $ 30.40
Controller, Arduino Pro Micro 1 ATmega32U4 5V 16MHz eBay: smooth-dealer $ 6.07 $ 6.07
Sensor, 3D Magnetometer/Accelerometer 1 10DOF L3GD20 LSM303D BMP180 eBay: smooth-dealer $ 6.96 S 6.96
USB to TTL Serial Converter 1 FTDI FT232RL USB to TTL Serial Converter eBay: iluckydog $ 2.65 S 265
TTL to RS485 Module 4 5V MAX485/RS485 Module TTL to RS-485 Module ebay: shoptuny $ 1.00 $  4.00
Motor, DC, Right Angle Worm Geared 2 High Torque 12V DC 2rpm DC Worm Geared Motor eBay: skull_music $12.32 S 2464
Hydraulic shaft seals, 25mm 3 Black Nitrile Rubber Double Lip Oil Shaft Seal TC 25mm x 45mm x 8mm eBay: sellerbible $ 243 S 729
Header, 6 Pin, 2.54 pitch 4 HM3416 Jaycar $ 2.40 $  9.60
Housing, 6 Pin, 2.54 pitch 4 HM3406 Jaycar $ 3.00 $ 12.00
SS Hex Blots, M10x45 2 10X45MG304SS United Fasteners $ 071 $0.07 $ 156
SS Hex Bolts, M10x25 6 10X25MG304SS United Fasteners $ 036 $0.04 $ 235
SS Hex Nuts, M10 12 10MG304N United Fasteners $ 018 $0.02 $ 238
SS Flat Washers, M10 12 10MG304W United Fasteners $ 0.04 $0.00 $ 051
SS Spring Washers, M10 8 10MG304S United Fasteners $ 0.04 $0.00 $ 034
Nylon washers, M10 6 10MNYW United Fasteners $ 0.10 $0.01 S 064
CSK Bolts Posi, M3x10 1 H3127A (Pack of 25) Altronics $ 2.65 $ 265
CSK Bolts Posi, M3x6 1 H3117A (Pack of 25) Altronics $ 3.00 $ 3.00
Nylon Tapped Spacer, M3x8 1 H1345 (Pack of 8) Altronics $ 295 S 295
Hex Nuts, M3 1 H3175 (Pack of 25) Altronics $ 230 $ 230
Flat Washers, M3 1 H3180 (Pack of 25) Altronics $ 1.90 $ 1.9
Shake Proof Washers, M3 1 H3185 (Pack of 25) Altronics $ 2.50 $ 250
Terminal Block, 12-Way, Protected 1 P2135A Altronics $ 2.30 $ 230
Cable gland, Metal, IP68, 4-8mm 2 H4342 Altronics $ 6.00 $ 12.00
Total cost of parts (*Some as required to suit installation) $346.32



http://www.ebay.com/
http://www.ebay.com/
http://www.ebay.com/
http://www.ebay.com/
http://www.ebay.com/
http://www.ebay.com/
http://www.ebay.com/
http://www.ebay.com/

Component data
DC Motors

DC HOTOR 8 &
/ D | 5
= \-@_ég—— b i 1 1 T
5 - el _' o = = 1 s piied o sl L =
=l = TR @ 12]% B .
= i i Y
= 4 T i T \4‘ T T T 11 T w1
) 91:0. = Z;. -
g_B_:U.E o — b 54 s fim Y
30. 8 i o ¢ 6-0.015 : =
4, 8-0.1
Enclosure
W D
: 20 D-28mm
ﬁk :P
[ H-46mm :
- '3@} OPENING | {16
i} H
20 :l«-
& i Li \ ;
Waemm =~ N \EARTHING STUD
OPENING
‘W-50mm
74 >

—N
H-50mm




Flange bearing

More Information
d = | 25mm
a = | 95mm
e = | 75mm
g = | 8mm
| = | 16mm
N = | 10mm
b = | 60mm
n = | 6mm
Bi = | 22.5mm
t = | 27.5mm
74 = | 24.5
Recommended Fixing Screw = | M8
Weight = | 0.27 kg
Dynamic Load = | 10094N ~ 1029.302 kgf
Static Load = | 5831N ~ 594.597 kgf
e Bl
N diameter

~ -+

] [ |




Pillow block bearing

More Information

Shaft Diameter = |25
H = |32
L = | 112
] = |90
A = |20
N = |10
Hi = |10
H2 = |62
B = | 22:5
s = |6
Recommended Mounting Bolt = | M8
Weight = | 0.33 kg
Dynamic Load = | 10094N ~ 1029.302 kgf
Static Load = | 5831N ~ 594.597 kgf
B -
.-S-..
S - H2 H
N
' o y
Hi [P-4-4--, l,-J_..-i A-4-4.
' J - A~
L

lloy Bore Diameter Ball Bearing Pillow Block Mounted




Sprockets and chain
Note: Globallndustrial may no longer be stocking these items.

Try searching on www.ebay.com for “25-1R X 10FT”, “25-1R CL”, “25BS10H X 1/4” and “25BS32H X 1”

Product Description Item # Qty Price Total

TRITAN Sprocket 25BS10HX1/4, 1/4" B759819 4 $3.61 $14.44
Pitch, 1/4" Finished Bore, 10 Teeth

Shipping Method: UPS - GROUND
Estimated Ship Date: 08/26/2016

TRITAN Sprocket 25BS32X1, 1/4" B759571 4 $12.25 $49.00
Pitch, 1" Finished Bore, 32 Teeth

Shipping Method: UPS - GROUND
Estimated Ship Date: 08/26/2016

Shipping Method: UPS - GROUND
Estimated Ship Date: 08/25/2016

Tritan Precision Ansi Roller Chain - 25- B615676 4 $0.36 $1.44
1r - 1/4" Pitch - Connecting Link

Tritan Precision Ansi Roller Chain - 25- B615650 1 $18.25 $18.25
1r - 1/4" Pitch - 10ft Box

Shipping Method: UPS - GROUND
Estimated Ship Date: 08/25/2016

Note: Quantities shows above were for two sets.


http://www.ebay.com/
http://www.ebay.com/

Assembly Drawings

wwiy

7 . 7 7 7 :
[T [T o
& < 2
2 x S
[mim / Y & m £
£ S ]| i & 3 &
| i o 3 &
& 2 / 5 £ =
3 o Y g & 7 £
S 4 s — s
S
£ L - ﬁ
£ =
&
~
& /
. /A
7
= O A N
m 2 m £ //
[t i Rl IIVHEWMIGE - — — — — . — o — = — D= == = e A ] c
. o b E £
" RE A
|| ¥oiowzv i £ £
£ L £ ©
; f f
&
L wwyT
wwreg
wwoy
1
wwos
-3
o
s}
=]
|
l |
! i
! l
— ! 1
7 W W © i
I | x
I I £ |
£
ONIYV3g M |
|
— | M
| i
i o |
I 5 \ ]
S e 5 ! \
i s 1
1< = N o ! ;
I < : | / E—
] N — m ~
| 2 ! .
_ Q z W [ B
| z . E— .
: E /
! S /
! M: [ i
| | !
I i
i W
1 Lo ||
|
jid
< [C] I ©
£ 3 H = z
L — === -||m.l|| z 8 | --=-——— 25mm SHAFT - — - — - — - — - — - — - | z oS — o= [=emamash =l [ (S |00 | (L= =
[ o I ]
I @ B @
Y
| /
| —— — /
| i )
| | \
I :
| L i
|
! Q ¥OLOW 13 I
! ]
L [ |
A\ |
! p
EXSZX0S == = I—
- R — )
[ , 13)008dS ] NIVHD 13)008dS !
i I i | =
| i
7 1[’, 7 _
|
_ | ;i t
! | wwsgg
! i
N ! wwpst |
t TSwu-o=o Swu-owo ]
T
o
! 8
| 4 a
&
2
l &
i & e
e
T o
_ s
™
&
o
=]
z
=
g e
£ L
£ § EL MOTOR
3 /
a I L q |==
] KN 2
e R - ™M == 25MNSHAFT— - — - — - — 2| b=
! <
: & [\ =
| & ~ B ==
,/ /.
| L N
[ 7 \ —
L 4 i H
- i O O
- L
|
T
wwooz




Electronics assembly

100mm
A
TTL-RS422 O

ELECTRONICS ASSEMBLY ARDUINO O
£
5 O] O O
o
—

EL MOTOR DRIVER AZ MOTOR DRIVER
O




Pictorial Schematic Diagram

5V REGULATOR 7]

@WWM Analog SPD 12C Serial Arduino

ARDUINO PRO MICRO

L\ S\S N
S\ .
ANTENNA
'\ S\S
iy ™ SENSOR
\s] S\S
AL | carsutecase || I E
AZ MOTOR
EL MOTOR

n W W .
’ 7 F°

EL MOTOR DRIVER

12VDC 1A




Details of wiring the RS485 boards:

=
E
g ..

B % A
7/

Top view: To save space and wiring the two RS485 driver boards were stacked using two, four pin
headers. The DI, RO, VCC and GND pins were connected in parallel between each board. The A and B
pins were brought out separately. On the receiver board the DE and RE of the MAX485 are tied to GND
using a short piece of enamelled copper wire to C1. The transmitter board was unmodified.

Side view: Showing the receiver board on top of the transmitter
board and the two headers. Note: The two centre pins were removed
from the bottom header.

4

Rear view: Showing the enamelled copper wires on the rear of the
perf board and the connections between the two headers and the
two board connectors. The two centre wires at the bottom come

from the A and B connections on the receiver board. The wiring was

potted in epoxy resin.




